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Section : General Section

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

Mouse : Rodent : : Bee : ?
Ans - X' 1. Drone

' 2 Insect
X 3. Reptile
X 4 Bird

Qllacfinn 1D-:- 9895802702

Chosen Option : 1

Q.2

Seven friends O. P. Q. R. S, T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.

Ans _‘x' ﬁf“ R | the middle?
X2Q
WP
XU

Qllocﬁnn 1D-:-9895802707

Chosen Option : 3

Q.3
Select the Venn diagram that best represents the given set of classes:

Ans Udaipur, Rajasthan, India
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Chosen Option : 4

‘ VUCDtIUII D . JoJooUZLTrZS

Q4 Choose the option that would follow next in the given figure series.

R & ?

Ans

Question ID : 9895802718

Chosen Option : 4




Q5 Select the option that will correctly replace the question mark (?) in the series.

4. 16, 28. 40.?
Ans X 1. 69
v 2 52
X s 51
X 4 56

Question ID : 9895802712
Chosen Option : 2

Q.6 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?
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Ans

m————

Quc i .
Chosen Option : 4

Q.7 Select a fignre from amongst the four altematives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

dl

2

Ans




Question ID : 9895802719
Chosen Option : 2

Q.8 Select the option that is related to the third number in the same way as the second number is related to the first number.

11:225::14:2

Ans X 1. 169
W 2 324
X 3 144
X 4225

Question ID : 9895802714
Chosen Option : 4

Q9 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

Ans

C

Question-1D-:-9895802720
g

Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
0

Unhappy : Sad : : Speak : 7
Ans  of 1. Shout
X 2 Desire




X 3 Ask
X 4 Listen

Question ID : 9895802703
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled T and TI. Assuming that the information in the statements
is mue. even if it appears al variance with generally established facts. decide which cenclusion (s) logically and
definitely follow (s) from the information given in the statements.

Statements:
1) All hens are lions.

2) All lions are cats.

Conclusion

L All cats are hens.

Crmnn anén mna bhnna

Ans $< 1. Only conclusion I follows.
« 2. Only conclusion II follows.

X 3. Either conclusion I or conclusion II follows.
X 4 Both conclusions follow:.

Question 1D 9895802710
Chosen Option : 2

Q.1 In acertain code, SCIENTIST is written as TSITNEISC. How will GOLDSMITH be written in that code?
2

Ans - X' 1. HTIMSDLOG
X 2 HTISMDLGO
+ 3 HTIMSDLGO
X 4 HITMSDLOG

Question ID : 9895802705
Chosen Option : 1

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

capsize
A 32129v9
X 2 3212dA2
v 3 35129A0
X « EZI_dAD

Question ID : 9895802721
Chosen Option : 3




|6

Q4-1 Select the option that will correctly replace the question mark (?) in the given pattern.

13 22 12

117 ? 132

9 7 11
Ans X 1117
v 2 154
X 3. 165

X 4119

Question ID : 9895802716
Chosen Option : 2

Qél Select the option that will correctly replace the question mark (?) in the series.

OJY. MLW, KNU, IPS.?
Ans  of 1 GRQ
X 2 GRP
X 3 GPO
X 4 GRR

Question ID : 9895802699
Chosen Option : 1

Q.1 Eight friends A. B. C. D. E. . G and H are sitting around a circular table facing each other for a lunch. A is opposite F
6 and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting opposite C?

Ans of 1. D
X2 F
X3 B
X4 A

Question ID : 9895802708
Chosen Option : 1

2 Choose the odd one out of the given options.
Ans X' 1. MIF

X 2 RGC

v : DPR

X 4 EFQ

Question ID : 9895802700
Chosen Option : 3




Q.1 J KL. M. N and O are six teachers. Each one teaches a different subject out of Hindi. English. Math. Science, Social
8 science and Arts, not necessarily in the same order. Each of them teaches on only one day. from Monday to Saturday.
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science. but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Sccial Science is
taught a day before Arts. Which subject is taught by N?

Ans X 1 Arts
X 2 Hindi
« 3 English

X 4 Science

Question 1D : 9895802709
Chosen Option : 3

Qg'l Select the option that will correctly replace the question mark (?) in the series.

9. 10, 18, 45.?
Ans X 1107

X 2 111
3 109
X 4110

Question ID : 9895802713
Chosen Option : 3

QO'Z Find out the two signs to be interchanged to make the following equation correct.

13426x2-5+3=11
Ans X1 -and +

W 2 xand+
X 3 +and -
X 4 - and x

Question ID : 9895802717
Chosen Option : 2

Y R T et F ¥ IS F TS Y
Ans xlw
X 2 TS
X 3 HTel

~

W 1 THRT

Question ID : 9895802701
Chosen Option : 4

-/ 41




Q.2 The statements below are followed by two conclusions labeled T and T1. Assuming that the information in the statements
2 istrue, even ifit appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some men are insacts.

2) Some larvae are insects.

Conclusion

' Some insects are larvae.

Cama incasts ara man

II,
Ans 1. Only conclusion I follows.

v 2 Both conclusions follow.
< 3. Only conclusion II follows.

X 4 Neither conclusion I nor conclusion II follows.

Question ID : 9895802711
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
3

BAC:GFH::LKM:?

Ans - X 1. QRP
v 2 QPR
X 3 QOP
X 4 QPO

Question ID : 9895802704
Chosen Option : 2

Qf Choose the odd number out of the given options.

Ans X 1109
v 2 561
X s 127
X 4 307

Question ID : 9895802715
Chosen Option : 2

Q5-2 In a certain code, REFUSE is written as 74. How will KIDNAP be written in that code?
Ans X159

V2 55

X 3 54

X+ 57




Question ID : 9895802706
Chosen Option : 2

QG-Z ‘Which of the following festivals is associated with the ‘Vaman’ incarnation of Vishnu?

Ans - X' 1. Kumbha
X 2 Bihu
v 3 Onam
X 4 Janmashtami

Question 1D : 9895802551
Chosen Option : 4

Q7'2 As of February 2019, who is the current Vice-Chairman of Niti Aayog?
Ans - X 1. Shaktikanta Das

« 2 Rajiv Kumar

X 3. Shakti Sinha

X 4 Uyjit Patel

Question ID : 9895802554
Chosen Option : 2

22 The Indian constitution declares India as:
Ans - X 1. a Federation of States

& 2 a Confederation of States

+ 2 a Union of States

X 4 a Association of States

Question ID : 9895802560
Chosen Option : 3

Qéz Which of the following is NOT a determinant of the patterns of drainage system?
Ans - X 1. Climatic conditions of the area

« 2 Source of the drainage system

X 3. Underlying rock structure

X 4 Slope of the land

Question ID : 9895802570
Chosen Option : 2

Q0'3 In the context of Sufi tradition, the term *khangah’ stood for:
Ans - X' 1. the Hell

X % agraveyard




« 2. a hospice
X 4 the Heaven

Question ID : 9895802572
Chosen Option : 3

23 Which of the following is NOT true about nuclear fusion?
Ans - 1. It produces much more energy than nuclear fission.

o 2. The process is used for making nuclear bomb.
X 3
Electricity production through this process is commercially less viable than nuclear fission.

/X 4 It is the source of energy in the stars.

Question 1D : 9895802565
Chosen Option : 3

23 Which of the following pair is NOT correctly matched?
Ans of 1. Magnesium hydroxide — MgOH)

X 2. Sulphuric acid — HySOj4

X 3. Ammonium hydroxide — NHsOH

/< 4. Nitric acid — HNO3

Question ID : 9895802567
Chosen Option : 3

Qé3 Which of the following money transfer systems allows 24x7x365 transfer of money?
ans of 1. IMPS
X 2. Cheque

X 3 NEFT
X 4 RTGS

Question ID : 9895802558
Chosen Option : 1

Q3 Which of the following is NOT an artificial ecosystem?
Ans - X 1. Reservoir of a dam

X 2. Paddy-field

« 2 Forest

X 4 Garden

Question ID : 9895802564
Chosen Option : 3

-/ /2 1




Ans - 1. Mangalyaan — II
« 2 Gaganyaan
X 3. Chandrayaan —II
X« Adityal — 1

23 Which of the followings was NOT a Harappan city?

Ans - X' 1. T othal
X 2 Dholavira

Q.3 Which of the followings has been dubbed as ‘India's maiden human spaceflight programme*?
5

Question 1D : 9895802555
Chosen Option : 4

Ans  of 1. Nadia Murad
X 2. Kazuo Ishiguro
X 3. James P. Allison
X 4 Donna Strickland

o 2 Mehrgarh
X 4 Sotkakoh
Question ID : 9895802573
Chosen Option : 1
Q3 was awarded the Noble Peace Prize 2018.

Question ID : 9895802556
Chosen Option : 1

8
Ans o 1. Virat Kohli

X 2. Ajinkya Rahane
X 3. Cheteshwar Pujara
X 4 Ravindra Jadeja

Q.3 Which Indian cricketer topped the MRT Tyres ICC Test Player Rankings at the year-end after 2018?

2% Which of the following turns Blue litmus Red?
Ans  of 1. Vinegar

X 2. Lime Water

/< 3 Baking Soda

X 4 Milk

Question ID : 9895802553
Chosen Option : 1




Question ID : 9895802566
Chosen Option : 4

2¢ Bhimbetka, a world heritage site, is known for:
Ans - X 1. Ashokan Pillar

' 2. prehistoric rock shelters

X 3. monolithic temples

/< 4. Buddhist stupas

Question 1D : 9895802549
Chosen Option : 3

2* Which of the following statements is NOT correct about myopia?
Ans - 1. The vision may be corrected with the help of concave lens.

X 2 It is also known as near sightedness.
,/ 3.

In the affected eye, the image of a distant object is formed beyond the retina.
/< 4. The person affected by it cannot see beyond few metres.

Question ID : 9895802563
Chosen Option : 3

2* What is ‘Bringa® in Orissa?

Ans - 1. A village known for diamond mines

X 2. A stone weapon used by the aboriginals
X 3. An edible oil used by the aboriginals

o 4. A local name of ‘slash and burn’ agriculture

Question ID : 9895802568
Chosen Option : 4

Qé“ Which of the following options is also termed as the third-tier of democracy in India?
Ans - X 1. State government

X 2 Union Territory governments

« 2 Local-self government

/X 4 Supreme Court

Question ID : 9895802561
Chosen Option : 3

Q4-4 Which of the following rulers built the mosque called *Adhai-din-ka-Thonpra®?
Ans




X 1 Balban

X 2. Abraham Lodi

X 3 Iltutmish

« 4 Qutub-ud-Din-Aibak

Question 1D : 9895802550
Chosen Option : 4

Q&‘;4 Which of the following constitutional amendments provided for the Right to Education?

A K1 g8t amendment
X 2 g9th amendment
X 3 g7t amendment
v ¢ g6™ amendment

Question 1D : 9895802562
Chosen Option : 4

Q.4 Which of the following institutions is responsible for regulating the formal sources of credit in India?
6

Ans of 1. RBI
X 2 TRAI
X 3 NABARD
X 4 IRDA

Question ID : 9895802559
Chosen Option : 1

Q.4 Which of the following organizations received the Maulana Abul Kalam Azad (MAKA) Trophy 2017-18?
7

Ans - X 1. JSW Sports

X 2. Isha Outreach
X 3. Rashtriya Ispat Nigam Limited

« 2 Guru Nanak Dev University

Question ID : 9895802552
Chosen Option : 1

2* The Economic Survey of India is published by:
Ans - 1. Department of Financial Services

« 2 Department of Economic Affairs

X 3. Department of Revenue

X 4 Department of Public Expenditure

Question ID : 9895802557




Chosen Option : 2

Q9'4 During British rule in India, ‘gomastha’ was:

Ans J 1.

a paid servant to supervise weavers, collect supplies, and examine the quality of cloth
X 2 an Indian soldier appointed as the in-charge of a cavalry

X 3. avillage-level official in the revenue-department

X 2 an Indian official in the intelligence department

Question 1D : 9895802571
Chosen Option : 3

25 Which of the following rivers forms the famous Dhuadhar falls?
Ans of 1 Narmada

X 2 Kali Sind

X 3 Chambal

X 4 Tapi

Question ID : 9895802569
Chosen Option : 3

Q.5 A sum of X 8250 gives simple interest of X 2475 in § years. What will be the rate of interest per annum?
1

Ans X1 7.5%
X 2 8%
v 6%
X 4 10%

Question ID : 9895804347
Chosen Option : 3

Q.5 The bar chart given below shows the total exports (in T 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
2 Y4, Y5. Y6and Y7.
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What is the average exports from years Y110 Y77

Ans - X1 031.45
X 2 886.19
W 3 964.28
X 4 847.87

Question ID : 9895804357
Chosen Option : 3

Q.5 The volume of a right circular cone is equal to the volume of that right circular cylinder whose height is 27 em and
3 diameter of its base is 30 cm. If the height of the cone is 25 cm. then what will be the diameter of its base?
Ans 1.




v 2 54cm
X 3 27cm
X 4 35¢m

Question ID : 9895804353
Chosen Option : 3

Q.5 (Qutof 100 articles, 25 articles were sold at 25% profit and the remaining articles were sold at 25% loss. What will be
4 the tomal loss percentage?

Ans X1 15
v 125
X 320
X 4 10

Question 1D : 9895804343
Chosen Option : 2

Q.5 40 mechanics can repair a bike in 56 days. In how many days 32 mechanics will do the same work?
5

Ans - X 1. 60 days
X 2. 56 days
< 3. 80 days
o 4. 70 days

Question ID : 9895804350
Chosen Option : 4

Q6'5 The average of 23, 27, 29, 36, 47 and x is 35. What is the value of x?
Ans X 145

X252

W 3 48

X 4 39

Question ID : 9895804338
Chosen Option : 3

Q.5 TapK can fill atank in 8 hours and tap L can fill the same tank in 20 hours. In how many hours both tap K and L
7 together can fill the same tank?

Ans - X 1. 20/3 hours
X 2 60/11 hours
X 3. 18/5 hours
' 4 40/7 hours

Question ID : 9895804349
Chosen Option : 4

Q5




8 Selling price of first article is T 960 and cost price of second article is ¥ 960. If there is a profit of 20% on first article
and loss of 20% on second article. then. what will be the total loss?

Ans X1 Z 36
X 2324
X 3320
v E32

Question 1D : 9895804342
Chosen Option : 4

Q.5 Neeraj covers two distances of 10 km and 20 km in 1 hour and 5 hours respectively. What will be the average speed of
9 Neeraj for the whole journey?

Ans - X 1.4 km/hr
X 2 7 km/hr
« 2 5 km/hr
X 4 6 km/hr

Question ID : 9895804351
Chosen Option : 2

Q.6 The pie chart given below shows the annual snowfall received by 7 states of a country. The snowfall is shown as a
percentage of total annual snowfall of the country.
$1
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If the annual snowfall received by the country is 700 em. What is the difference in the annual snowfalls of S3 and S2?
Ans X142 e¢m

X 2 7em
X 3. Cannot be determined
W 4« 35¢cm

Question ID : 9895804356
Chosen Option : 4

Q6 ; -
1 What is the value of(2m+lo 25 54 -)?
2

Ans X 1. 121
v 2 123
X 3122
X 4126

Question ID : 9895804335
Chosen Option : 4

Q.6 A motorcyele is moving at the speed of 25 km/hr and its speed is increased by 7 km/hr at the end of each hour. How
much time it will take to cover a distance of 225 km?




Ans of 1. 11/2 hr
X2 7hr

X 3 13/2hr
X 4 6hr

Question ID : 9895804352
Chosen Option : 1

2° What is the mode of the given data?
21,22, 23,28, 34, 21,22, 9%, 21, 93,24, 2%, 21,23
ans of 123
X221
X322
X 424

Question 1D : 9895804340
Chosen Option : 2

Q.6 A sum of T 10500 becomes ¥ 17745 in 2 years at the rate of compound interest. If the interest is compounded annually,
4 then what will be the rate of interest?

Ans - X 1. 40%
W 2 30%
X 3 25%
X 4 20%

Question ID : 9895804348
Chosen Option : 2

Q.6 The average monthly salary of 30 employees and 5 managers is ¥ 80000. One manager with salary ¥ 180000 is
replaced by a new manager. If the average monthly salary now becomes ¥ 78500, then what is the monthly salary of the
new manager?

Ans X 1. % 142500
X 2. 132000
v 3 2127500
X 4. % 154500

Question ID : 9895804337
Chosen Option : 1

Q.6 Height of aright circular cone is 8 cm. If diameter of its base is 12 cm. then what will be the curved surface area of the
6 o
cone?

Ar X 1 1056/7 em?
v 2 1320/7 em?
X 3 1440/7 cm?

X % 2112/7 em?




Question ID : 9895804354
Chosen Option : 2

Q.6 Theratio of the areas of two triangles is 1: 2 and the ratio of their bases is 3 : 4. What will be the ratio of their height?
7

Ans X'11:3
X24:3
X32:1
vi2:3

Question 1D : 9895804355
Chosen Option : 4

Q.6 A bag has T 840 in the denomination of ¥ 1, 2 and T 5 coins. T 1, ¥ 2 and T 5 coins are in the ratio of 81 1: 5. How
many coms of X 5 are in the bag?

Ans X 1. 60
X 2 24
X 3. 600
v 4120
Question ID : 9895804345
Chosen Option : 4
Q6

‘What is the value of 11+4—§ of%+11 ?

Ans of 113
X 211
X315
X 417

Question ID : 9895804336
Chosen Option : 1

Q.7 The Least Common Multiple and Highest common Factor of two numbers are 30 and 5 respectively. If their sum is 25,
0 then what will be the difference of these two numbers?

Ans X115
X 210
X 325
Vs

Question ID : 9895804334
Chosen Option : 4

Q.7 A shopkeeper sells a cooler at a discount of 15%. If he gives a discount of 19%, then he eams ¥ 332 fess. What will be
the marked price of the cooler?

Ans - X1 F 8100

v 2 28300
X * %8700




X 4 %8200

Question ID : 9895804339
Chosen Option : 2

Q.7 The bar chart given below shows the total exports (in ¥ 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
2 Y4, YS. Y6and YT.
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‘What is the ratio of the exports of year with lowest exports and the year with second highest exports?

Ans XK1.9:12
v25:12
X 39:13
X45:11

Question 1D : 9895804358
Chosen Option : 2

QJ If X'is 80% more than ¥, then ¥ is how much percentage less than X?

Ans - X1 61.33%
X 2 80%
X 3 33.33%
W o 44.44%

Question ID : 9895804341
Chosen Option : 4

Q.7 P.QandR invest sum in the ratio of 7 : 4 : 9 respectively. If they eamed total profit of T 6680 at the end of year. then
What is the total share of P and Q together?

Ans - X1 T 4868
X 2. 34254
X 3 24124
v 1 %3674

Question ID : 9895804346
Chosen Option : 4

Q.7 K, I and Minvest sum in the ratio of 15 : 20 : 27 respectively. If they earned total profit of ¥ 10230 at the end of year,
then what is the difference between share of K and L?

Ans X1 % 1155
X 2 %1275
X 3 1980
v %825

Question ID : 9895804344
Chosen Option : 4




Section : English Language

Q1 Select the most appropriate meaning of the underlined idiom in the given sentence.
My views are totally in harmony with my brother’s views.
Ans - 1. according to
& 2 in favor of
X 3. different from
« 4 in agreement with

Question 1D : 9895804238
Chosen Option : 4

Q2 Select the most appropriate ANTONYM of the given word.
ATTRACTED

Ans  of 1. Repelled

& 2. Enchanted

X 3. Transformed
X 4 Disturbed

Question ID : 9895804236
Chosen Option : 1

Q3 Select the most appropriate word to fill in the blank.

My sister a cat and brought it home.
Ans X 1. assumed
X 2. adapted

« 3 adopted
/< 4. approved

Question ID : 9895804244
Chosen Option : 3

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

The ves became gradually weaker over the time.
Ans . X 1. sounds of the sea wave

X 2 sound from sea waves
« 3 No improvement

X 4. sound with the sea waves

Question ID : 9895804252
Chosen Option : 3




Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Sivagami longed to touch the chise! but her grandfather chase her away.
Ans - 1. chased it away

« 2 chased her away
X 3. No improvement

X 4 had chased them away

Question 1D : 9895804251
Chosen Option : 2

Q6 Identify the ssgment in the sentence which contains the grammatical error from the given options.

I'm sorry, but I don’t agree with which you just said.

Ans - X1 I'm sorry

« 2 with which
X 3. just said

X 4 don’t agree

Question ID : 9895804247
Chosen Option : 2

Q7 Select the most appropriate synonym of the given word.

THRIVE
Ans  of 1 Prosper

X 2 Promote
X 3. Foster
/< 4 Progress

Question ID : 9895804233
Chosen Option : 3

28 Select the word which means the same as the group of words given.

An act that makes you feel morally bad or ashamed.
Ans 1. Displeased

X 2. Irrational
« 3 Disgraceful

/< 4. Ignorant

Question ID : 9895804242
Chosen Option : 3

Q.9




Select the most appropriate meaning of the given idiom.

Bone of contention

Ans X 1. A cause of failure
X 2. A matter of contentment
X 3. A highly irritable person
o 4 A subject of dispute

Question 1D : 9895804237
Chosen Option : 4

Q1 Fill in the blanks with the most appropriate words.

Once the mother duck jumped the pond, the ducklings followed suit.
Ans - X 1. over

X 2 in
X 3 under
« 4 into

Question ID : 9895804248
Chosen Option : 4

Ql'l Select the correctly spelt word.
Ans  of 1 Thoroughfare

/< 2. Thoroughfair
X 3. Thorowfare
X 4 Throughfare

Question ID : 9895804240
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
2 substitute it, select No improvement.

The ticking of the clock was the only sound to hear.
Ans 1. in hearing

X 2. No improvement

X 3. to hear with
« 4 to be heard

Question ID : 9895804250
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 13
9! Fill in blank (1) with the most appropriate option.

Ans of 1 bared
& 2. dreary
X 3. parched
X 4 dried

Question ID : 9895804254
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 14

1 Fill in blank (2) with the most appropriate option.
Ans of 1. perching
X 2. punching
X 3. pouncing
X 4 parching

Question ID : 9895804255
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 15

91 Fill in blank (3) with the most appropriate option.
Ans - of 1. struggling

X 2 sleeping

X 3 sliding

X 4. surviving

Question ID : 9895804256
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 16
%' Fill in blank (4) with the most appropriate option.
Ans X 1 out
W 2 away
X 3 up
X 4 aside

Question ID : 9895804257
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The trees had lost most of their leaves and their (1) figures
were clear against the grey sky. Bella looked up at them and could
see birds (2) with difficulty, (3) to keep themselves
in place while the wind tried to blow them (4) She was
walking against the wind and trying hard to push herself ahead. She
resisted and strode (5)

SubQuestion No : 17

Q! Fill in blank (5) with the most appropriate option.
Ans of 1 on
X 2. by
X 3 up
X 4 in

Question ID : 9895804258
Chosen Option : 2

Qél Identify the segment in the sentence which contains the grammatical error from the given options.

As far the eye could reach. nothing could be seen except the ruined columns of an old building.
Ans X1 could reach

o 2 As far the eye
X 3. except the
X 4 nothing could be

Question ID : 9895804246
Chosen Option : 1

Qél Select the word which means the same as the group of words given.

That which cannot be wrong
Ans - X 1. Trrefutable
X 2. Inaccurate
v 2 Infallible
X 4 Inevitable

Question ID : 9895804241
Chosen Option : 3

Q% Select the most appropriate antonym of the given word.

BENEVOLENT

Ans




X 1 Dull

v 2. Merciless
/< 3. Friendly

X 4 Injurious

Question 1D : 9895804235
Chosen Option : 2

Q1.2 Select the most appropriate word to fill in the blank.

His success in the competitive examination gave him a major in his career.
Ans - X 1. break out

« 2. breakthrough
X 3. break up
X 4 breakdown

Question ID : 9895804243
Chosen Option : 2

QZ-Z Identify the segment in the sentence which contains the grammatical error from the given options.

She always gets the better in quarrels whether it is with girls or boys.
Ans of 1 better in
X 2 gets the
X 3 it is with
X 4 She always

Question ID : 9895804245
Chosen Option : 2

Qéz Select the correctly spelt word.
Ans - 1. Kindergarden

« 2 Kindergarten

X 3 Kindargarten

X 4 Kindergardan

Question ID : 9895804239
Chosen Option : 1

22 Fill in the blank with the most appropriate option.

in the first attempt, he did not try again.
Ans x 1.

' * Having failed




X 3. Being failed
X 4 Having fail

Question ID : 9895804249
Chosen Option : 2

Q% Select the most appropriate synonym of the given word.

MORALE
Ans - X 1. Appearance

X 2 Attitude
W 3 Self-confidence
/< 4 Reputation

Question 1D : 9895804234
Chosen Option : 4

Section : Hindi Language

¥ Ra T e & R sugea e o

S ¥ FROT T T0H W & @ e
Ans X 1. eRIEE
X g@
3.!%3ﬁ'

s

Question ID : 9895803652
Chosen Option : --

Q'Zﬁ'&aﬁram'rara:%mua:emgﬁvl
e 15 a1y 7 &

Ans JIW

X 2 AT

X 5 gAY
X 4 g

Question ID : 9895803669
Chosen Option : --

¥ T T I e FT Tae

Ans




5. fgeigea
s Eeeed

Question 1D : 9895803671
Chosen Option : --

% R T # R F T 39 e # 9T R

TS arEET A B
A o1 oeR

X2 g

X 3 s

X o e

Question ID : 9895803655
Chosen Option : --

*° R v I F W@ifea @3 @ yiasuia == ¥ B
39gad fawed &1 T30
Ad 9feeT gy Tt & e o)
AL ZEt geRT # e o
2 ZH IR & N 1)
X 28 =R # [ 7wy
. ZE R H A 719

Question ID : 9895803650
Chosen Option : --

% Rw AT UEE F IAYARET AT F TTT F

Rl )

Ans xl- ﬁa’
v 2 qiefer
X s A

X * ofAroT




Question 1D : 9895803664
Chosen Option : --

Q7 Pr=fefT & ¥ 57 ey 71 937 F 3 ' X 7 Fe | @R I 3 WIS F 8
Ans & - s

X 1 FT & 3HeT WA el ASH
2 "W

o~

X s FATAT
v @fag A e

Question 1D : 9895803666
Chosen Option : --

Q'sﬁ'&?mamra:ﬁvwamgﬁvl

o9 J&r 7 3 6
A K 1 Frereier

X 2 FAARET
X ooy
e

2

Question ID : 9895803668
Chosen Option : --

Q'gﬁvmammﬁzﬂwgﬁl

33T
Ans of 1 3ea
X 2 grETe
X HEd
X o e

Question ID : 9895803663
Chosen Option : --

Comprehension:




fw 1w sTeoE F Fo g g R aw ) R v fwet &
TEd ¥ od T s e §Edr & fov 3uged e
FT T FL

TeT ST § HIT BT HTEAT (1) B &1 38F AF F
@ A (2) 9T BT 31 HUEEy Fr I Ig 77 FET
Ear & Ifg sadr (3) gt 715 A F¥4T g ? 3/
AR T e ¥ su Rl g de T T &
AT A (4) 2 &S B 3Ty fEg Aue =
F FROT Fefr (5) FIET &rer 9raT|

SubQuestion No : 10
% e # wHAT REa T (1) F R suged
rec BIIT -
Ans of 1 FordTe
i
X 3 AT
X+ =T

Question ID : 9895803657
Chosen Option : --

Comprehension:

fw 1w 3geoT F Fo owg g R aw ) R v fwet &
werar ¥ o vue aX 9eds vE & v suged e
FT T FL

TeT ST § HIT BT HAT (1) B &1 38F AF FT
T A (2) 9T BT g1 TUAEr Fr I AT #T G
Ear & Ifg sadr (3) gt 715 A FAT g ? 3/
AR A T ¥ TuF ROl g A e stk A
AT A (4) B T T IFTTEET e AU =
F FROT Feft (5) FIEr &rer 9raT|

SubQuestion No : 11
T e # T Rea T (2) # B sugE
e, BT -
Ans 1 ag.lé.
X 2 onfy
VR T
X 4 3renfy

Question ID : 9895803658




[ Chosen Option : --

Comprehension:

e 71w =g F Fo U= g faw av §) v v et #
eI ¥ Rea T &Y 93 96 ¥ v sugE e
FT TTT HL

T NUT § HIST H HAT (1) & &1 30F A7 F
T 3R (2) g BT g1 Ty F wal Ag 4T ALY
Ear & ofg 3wdhr (3) gt 715 A F¥4T g 2 3/
AR Y T B s0S AT 3 e Ao T #
A A (4) 2 TS E1 WA T MU T
F FROT Fafr (5) &Y sYer graT|

SubQuestion No : 12
Q1 . =% i
2 IS H Hehfad o T (3) & T 39

oreg g9 -
Ans ,1. ?B.a.

X 2 FPer
X 3 grer
X 4 STdT

Question ID : 9895803659
Chosen Option : --

Comprehension:
e 71w =g # Fo U= g faw Av §1 v v et #
werar ¥ o vue a1 9ds vE & v suged e
FT TTT FLI

T SNV F FJST BT HTHAT (1) B 1 30F AF T
@ 3R (2) g T g1 Ty F wal ug o4F A
Ear & ofg swdr (3) gt 715 A F¥4T g ? 3W
AARF oify @ ¥ 50 fodia g5 Soe Ao aafEa #
A A (4) 2 TS E1 WA T MU e
F FRUT FaAr (5) FET SYer gram|

SubQuestion No : 13
k) el H HHlad Nead v (4) & fow sugea
oreg; gl -

Ans x 1. 'c']\a'r

X 2 gerar
X 3. JATH




VR

Question 1D : 9895803660
Chosen Option : --

Comprehension:

fw 1w 3geoT F Fo owg g R aw ) R v fwet &
eI ¥ REa T &Y 93% e F o 3ugE e
FT T FL

T SISO ¥ FJST BT HTCAT (1) B &1 385 7T
@ 3R (2) 9T BT g1 TUAEr Fr I AT #T G
Ear & ofg swdr (3) g 1% A ¥4 g 2 3W
AR 2Ty e ¥ s AR g av A s B
AT H (4) B =S ¥ ITcTeE e AU TEEE
F HROT FHefr (5) FET srer 9T

SubQuestion No : 14
% ez # wHfa Rea T (5) & R ey
oreg g -
Ans - X1 gfer
v 3T
X 3
X o afear

Question ID : 9895803661
Chosen Option : --

Y Red T @ e ¥ RIT 39ged e # 9T F

4 & g e g
Ans Xlﬁ

X2 98

v HT

X gd

Question ID : 9895803653
Chosen Option : --

© Rea T # e F T 39ged uee #1994 F

A FIAT OigeT ST

Ans 1




v ax
X 3 hEaY

N

X o g

Question 1D : 9895803654
Chosen Option : --

Q7-1 Prfafdm & & 3w Rees &1 99w FY o ' awER B W TR @ ' HEEt F Y e e 8

Ans

L EY WA 4 @A
X 2 FeEaR ¥ TaRT gerAT
X 3 FeER WY A T
+ T &% TR FoEIR FCHER gHAT

Question 1D : 9895803667
Chosen Option : --

% R T AT Foag o A Sy e e 3R
IEAT H 33T 7 AT FF TIFSTT 3cTe AT ¢l
L
X 2 TdeT 39+ R g
X o gafr
v gEaT A

Question ID : 9895803646
Chosen Option : --

Y R T A #oag o A Sy e w3
8T T HT gAR IS H 39 T 7 @
A X1 gAY SEe #T
X 2 Fg @l
3 AT T T
X4 By T

Question ID : 9895803647
Chosen Option : --

Q2




feT a1v I & mifea @z = sfaruiRa == & B

39gad fawed & =TT HL|

g 9T 3WH U IF N, Ig HAIAT I FAGT HT I IET AT
e X 3gmRde @ 9,

X238 9T w9,

X s 38 9T T o,

vo3Ea 9T ® 9,

Question 1D : 9895803651
Chosen Option : --

Qizﬁ'cmalaasrﬁ'ahwgﬁl

ey
Ans X1 AT
X 2 orféres
. e g

2

v & goTeT

Question ID : 9895803662
Chosen Option : --

Y w8 5 T aeg F oTEE
XL gEER

v o TERR

X 3 FFR

X 4 TSR

Question ID : 9895803670
Chosen Option : --

Y Ry 9T weg F qITEEY U T TTT F

sicel
Ans xl- a4

X2 W
X 3. TR
v ge




Question ID : 9895803665
Chosen Option : --

|
Qf R 77 a7 #1 97 & 99 W oA Fs 1) 3

BT 3k AT g & 7ew 737 o 7@ T & BT o seprew & A7 F g

M rmE
Ixzmaaaiar
v ffEe ik Aiffe g #
« ol s e $r AT F g

Question 1D : 9895803648
Chosen Option : --

O R e g F itk g F yRTIRE = B svgEs R F 95 Ft
TTET T FUFE AT I8 A &
Ane | | gYUFE FHIferar 9 F1dr gl

lXZ-‘g:Ja@mqgm%l
l?(s-gﬂa»-_érmqgm%l
X 4. gUFHE FHEN 9T AT B

Question ID : 9895803649
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :

Registration No.

Name :

Exam Venue : iON Digital Zone iDZ 2 Chinamushidiwada
Exam Time : 12:30 PM - 2:00 PM

Exam Date : 13/02/2019

Section : General Section

Q.1 In a certain code, ENGINEER is written as REEINENG. How will PRODUCER be written in that code?
Ans o 1. RECDUPRO

& 2. RECDUORP

/< 3. RECDVPRO

& 4. RECUDORP

Question ID : 9895804723
Chosen Option : 1

2 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

I
&L

X R

Ans

x: HK
12>

XS.

s A

------------

Question ID : 9895804740
Chosen Option : --

Q.3 Select the option that will correctly replace the question mark (?) in the series.

PKZ, NMX, LOV, JQT, ?
ans o 1 HSR

<2 ISO

X 3 HTP

X 4 HST




Question ID : 9895804717
Chosen Option : 1

e ________________________________________|

Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) All gypsies are webs.
2) All webs are nest.
Conclusion:
I. All nests are gypsies.

II. Some nests are gypsies.

Ans - X 1. Both conclusions follow.

2. Only conclusion II follows.
3. Only conclusion I follows.

& 4. Either conclusion I or conclusion II follows.

Question ID : 9895804728
Chosen Option : 3

Q.5 Select the option that is related to the third number in the same way as the second number is related to the first number.
17:289::23:7
Ans  of 1529
X 2. 625
X 3 144
< 4169

Question ID : 9895804732
Chosen Option : 1

Q.6 Select the option that will correctly replace the question mark (?) in the series.

10, 11, 19, 46, ?
Ans of 1110

< 2 105

<3 82

X477

Question ID : 9895804731
Chosen Option : --

Q.7 Find out the two signs to be interchanged to make the following equation correct.
17+28x4-5+3=9
ans X1 -and+
& 2 +and-
“ 3. xand +
K 4 - and x

Question ID : 9895804735
Chosen Option : --

25




Choose the odd one out of the given options.
Ans - X1 Garlic
< 2. Onion
v 3. Mustard
4. Ginger

Question ID : 9895804719
Chosen Option : 3

Q.9 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

CLAMBER

AN g38MAID
2. A9BNATO
3. RIBWA1D

4. A3BWAJID

Question ID : 9895804739
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

0
DFH: HLP:: EGI : ?

Ans X 1. IMP
v 2. INR
< 3. IMR
X 4. INP

Question ID : 9895804722
Chosen Option : 2

Ql'l Choose the odd number out of the given options.

Ans X1 373
v 2 317
X 3 247
X 4 319

Question ID : 9895804733
Chosen Option : 3

Q2-1 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

Q

X

- &

Ans




v | X
x| 1L

Question ID : 9895804738
Chosen Option : 3

Qél Choose the option that would follow next in the given figure series.

R R ?

A B C D E

Ans

F

3
3
&
ha

X a4

11 150205804726

O\
~

Chosen Option : 3

Qj,l In a certain code, PENCIL is written as 59. How will ERASER be written in that code?

Ans of 1. 66
X2 55
< 3 65
X 4. 54
Question ID : 9895804724
Chosen Option : 3
Q.1




Select the option that will correctly replace the question mark (?) in the series.

4,20,36,52.7?
Ans - X170
X 2 69
X3 67
v i 68

Question ID : 9895804730
Chosen Option : 4

Q.1 Seven friends O, P. Q,R. S, T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
6 second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.
Who is sitting to the immediate left of P?

Ans X' 1. QO
X2U
K3 R
v:Q

Question ID : 9895804725
Chosen Option : 4

Q7'1 Select the Venn diagram that best represents the given set of classes.

Trivandrum, India. Kerala
Ans X 1.







Question ID : 9895804741
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
8

Dissipate: Squander:: Alight : ?

Ans K 1. Prohibition
v 2. Descend
3. Scarcity

< 4 Tllusion

Question ID : 9895804720
Chosen Option : 2

Q§1 Select the option that will correctly replace the question mark (?) in the given pattern.

-J

13 | 23

3 4 6

39 92 66

Ans X113
X2 7
v 3 11
X409

Question ID : 9895804734
Chosen Option : 1

%2 Choose the odd one out of the given options.

Ans - X 1. GFR
X 2. NIG
v 3 RST
& 4. DHS

Question ID : 9895804718
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
1

Lock: Key::Horse: ?
Ans




1. Carriage
& 2. Bull
X 3. Ride
X 4. Saucer

Question ID : 9895804721
Chosen Option : 3

Q.2 J.KL. M. N and O are six teachers. Each one teaches a different subject out of Hindi. English, Math, Science, Social
2 Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught on the first day of the week?

Ans of 1 Science
X 2. Hindi
< 3. Arts

4. English

Question ID : 9895804727
Chosen Option : --

Q.2 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
3 pattern. (Rotation is not allowed).

Ans

F

X 3

Question ID : 9895804737
Chosen Option : 2

Q.2 Eight friends A, B, C, D. E, F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
4 and third to the right B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting opposite E?

Ans of 1 G
X2 B
X3 C
X4 H

Question ID : 9895804726
Chosen Option : --

Q.2




The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some zoos are hangers.
2) Some hangers are fishes.
Conclusion
I. Some zoos are fishes.

II. Some hangers are zoos.

Ans 1. Only conclusion II follows.

& 2. Both conclusions follow.
X 3. Neither conclusion I nor conclusion II follows.
4. Only conclusion I follows.

Question ID : 9895804729
Chosen Option : 4

Qéz Who was the Chairman of the Drafting Committee of the Constituent Assembly?

Ans 1. Rajendra Prasad

v 2. BR. Ambedkar
& 3. Jawaharlal Nehru
< 4. K.M. Munsi

Question ID : 9895802637
Chosen Option : 1

22 Who is the author of the book titled *Becoming’?
Ans 1. Milenia Trump

& 2. Shashi Tharoor
v 3. Michelle Obama
4. Therasa May

Question ID : 9895802630
Chosen Option : --

Q.2 Which of following sections of the Indian Constitution is also known as the ‘conscience of the Indian Constitution’?

8
Ans 1. Citizenship

2. Fundamental rights
3. Scheduled languages
& 4. Federalism

Question ID : 9895802636
Chosen Option : 2

%2 Which of the following is a non-essential life process?
Ans 1. Reproduction

< 2. Excretion




& 3. Nutrition
v 4 Communication

Question ID : 9895802640
Chosen Option : 4

Q63 Which of the following statements is incorrect about hypermetropia?
Ans 1. Elongation of the eye ball is one of the causes of the defect.
2. It is also known as far-sightedness.

3. The affected person cannot see nearby objects properly.

p

It may also arise because the focal length of the eye lens is too long.

Question ID : 9895802638
Chosen Option : --

Q.3 Rohan Bopanna, the Arjuna Puraskar awardee of 2018, is known for accomplishments in which sport?
1

Ans o 1. Tennis
2. Wrestling
3. Shooting

& 4. Para-badminton

Question ID : 9895802628
Chosen Option : --

Q2-3 Who designed the Swaraj Flag during the Swadesi Movement in India?

Ans 1. Abanindranath Tagore

v 2. Mahatma Gandhi
3. Bal Gangadhar Tilak

4. Rabindranath Tagore

Question ID : 9895802648
Chosen Option : 2

Q3-3 Which of the following organizations publishes the World Development Report?

Ans X 1. UNESCO
v 2. World Bank
X 3. UNDP
X 4. IMF

Question ID : 9895802632
Chosen Option : 1

Q4',3 Which of the following departments of the Government of India runs payments banks?

Ans 1. Department of Economic Affairs

2. Department of Posts




3. Department of Accounting Affairs

4. Department of Financial Inclusion

Question ID : 9895802633
Chosen Option : 4

%3 Which is the highest peak of Western Ghats?
Ans - X 1. Dodda Betta
2. Mahendragiri

v 3 Anamudi
X 4. Baba Budan Giri

Question ID : 9895802643
Chosen Option : --

Q.3 In the Indian constitution, the power to legislate on the ‘residual matters’ has been assigned to:
6

Ans  of 1. the Union Government
2. the High Courts

3. the Supreme Court

X 4. the State Governments

Question ID : 9895802635
Chosen Option : 3

Q7'3 Which of the following states has the highest population density?
a5 of 1. Bihar
X 2. Tamil Nadu
3. West Bengal

& 4. Uttar Pradesh

Question ID : 9895802645
Chosen Option : 4

Qé3 Which of the following statements about gravitational force is NOT correct?

Ans x 1.

It is inversely proportional to the square of the distance between the objects.

52

Newton relied on the theories of Kepler in his research on the gravitational force.

v 3

It is inversely proportional to the product of the masses of the objects.

F

It is the force responsible for the attraction of every object of the universe towards each other.

Question ID : 9895802642
Chosen Option : 4

Qé3 Ramnath Goenka Awards are conferred for contributions in the field of:

Ans - X 1. mural sanitation




2. journalism

x 3. women empowerment

/< 4. sports

Question ID : 9895802629
Chosen Option : --

Q(-)“ Which of the following is NOT a folk dance form associated with Assam?
ans X 1 Bihu

2. Bagurumba

3. Mandjas

4. Satriya Nritya

Question ID : 9895802625
Chosen Option : 4

Q1-4 Maulana Abul Kalam Azad (MAKA) Trophy is given by the Union Government to:

Ans 1. overall top performing state in national-level tournaments

F

corporate entities who have played a visible role in the area of sports promotion and development

W 3

overall top performing university in inter-university tournaments

F

overall top performing athlete in international events organized in the year

Question ID : 9895802627
Chosen Option : --

Q.4 Indian businessman and philanthropist Azim Premji was recently conferred Chevalier de la Legion d'Honneur. It is the
2 highest civilian distinction of:

Ans X' 1. Britain
« 2. France
3. Spain

X 4. Germany

Question ID : 9895802631
Chosen Option : 1

%* Which of the following is NOT a world heritage site?
Ans X1 Agra Fort
2. Adamgarh Rock Shelters
3. Ajanta Caves
# 4. Bhimbetka Rock Shelters

Question ID : 9895802626
Chosen Option : 1

Q4 The part of a leaf which connects it to the stem is called:




Ans X 1. lamina
X 2 vein

3. petiole

4. stipules

Question ID : 9895802641
Chosen Option : 2

Qé“ Which of the following options is a harvest festival?
Ans o 1. Onam
« 2. Janmashtami
< 3. Dussehra
4. Akshaya Tritiya

Question ID : 9895802624
Chosen Option : 1

Qé“ Who was the father of Sultana Raziya?
Ans 1. Muhammad Tughluq

& 2. Balban
v 3 Tltutmish
& 4 Kaikubad

Question ID : 9895802647
Chosen Option : 1

Q.4 Which of the following schemes is NOT among the Union Government's steps for financial inclusion?
7

Ans 1. Pradhan Mantri Jeevan Jyoti Bima Yojana
2. Pradhan Mantri Jan Dhan Yojana
3. Pradhan Mantri Ujjawala Yojana
4. Pradhan Mantri Suraksha Bima Yojana

Question ID : 9895802634
Chosen Option : 3

Qé"' In any food chain, the top level is occupied by:
Ans X1 lions
2. human beings

X 3. serpents
X 4. eagle

Question ID : 9895802639
Chosen Option : 1

%4 Which of the following is NOT a Neolithic cultural site?
Ans ( 1.




& 2 Koldihwa
3. Mehrgarh

& 4. Burzahom

Question ID : 9895802646
Chosen Option : 3

%° Which of the following rivers forms the famous Sivasamudram Falls?
ans X 1. Kali Sind
v 2. Kaveri
3. Tungabhadra
X 4. Krishna

Question ID : 9895802644
Chosen Option : 2

5 .
Ql ‘What is the value of 680"52()*5‘%“ N2

Ans X1 574
X 2 577
X3 571
v i 575

Question ID : 9895804361
Chosen Option : 2

Q5 The length breadth and height of a cuboid are in the ratio 5 : 4 : 2. If the volume of cuboid is 5000 cm?, then what will
be the total surface area of the cuboid?

- 1900 cm?
2. 1750 cm?
3. 2100 cm?
4. 1800 cm?

Ans 1

Question ID : 9895804379
Chosen Option : --

Q5 ; 4 .25 1
3  What is the value of 528—24x§of7+5 Ve
Ans X 1.1920/7
X 2. 2125/9
X 3.1926/7

v 2 2006/7

Question ID : 9895804360
Chosen Option : 2

Q.5 Ifthe average of six consecutive even numbers is 11, then what will be the smallest number among them?
4

Ans (1-6
<24




X3 8
X 210

Question ID : 9895804363
Chosen Option : --

Q.5 The bar chart given below shows the total exports (in T 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
5 Y4, Y5 Y6and Y7.

1200 4100

1300
1000
50 900
1 I I I
YIOY2 Y3 Y4 YS Y6 Y7

‘Which year shows the highest percentage change in the exports as compare to previous year?
Ans XK 1.°Y3
&2 Y4
v Y2
X4 Y5

Question ID : 9895804382
Chosen Option : 3

Qé5 If cost price of an article is 1126 and loss is 22%, then what will be the net loss?

Ans X1 %252.60
v 224772
< 3. %260.52
X 4 %232.20

Question ID : 9895804367
Chosen Option : 2

Q.5 Working 4 hours in a day, R can complete a work in 12 days and working 8 hours in a day, 4 can complete the same
7 work in 9 days. Working 2 hours in a day, in how many days both R and A together can complete the same work?

Ans 1 72/5 days
2. 72 days
&< 3. 36/5 days
< 4. 48/5 days

Question ID : 9895804375
Chosen Option : 2

Q.5 Cost price of first article is ¥480 and selling price of second article is ¥480. If there is a profit of 20% on first article and
8 loss of 20% on second article, then what will be the total loss?

Ans of 1 %24
X2 %18
X3 220

4. No profit no loss

Question ID : 9895804368
Chosen Option : 2

Q.5 Curved surface area of a cylinder is 1056 cm?. If the height of cylinder is 8 cm, then what will be the diameter of its
base?

Ans 1.




X 2. 245¢cm
X3 145¢cm
v 42 cm

Question ID : 9895804378
Chosen Option : 2

Q.6 If Highest common Factor of two numbers is 12, then which of the following cannot be their Least Common Multiple?
0

Ans - X1 60
X 2 48
<3 24
v 4 80

Question ID : 9895804359
Chosen Option : 2

Q.6 1400 boys and 900 girls gave an exam. If 52% boys and 68% girls pass in the exam, then what is the percentage of
1 students who failed in the exam?

Ans X1 63.72%
v 2 41.74%
& 3.58.26%
X 4. 36.28%

Question ID : 9895804365
Chosen Option : 2

Q.6 Manoj covers two distances of 20 km and 36 km in 5 hours and 3 hours respectively. What will be the average speed of
2 Manoj for the whole journey?

Ans X 1. 8 km/hr
v 2 7 km/hr
< 3. 5 km/r
< 4 6 km/hr

Question ID : 9895804377
Chosen Option : 2

Q.6 The pie chart given below shows the imports of 7 different items P1, P2, P3, P4, P5, P6 and P7 as a percentage of total

3 imports of a country.
P7 Pl

14% 11%
P2
P6 230
21%
PS P3
P4
5
12% 1% 15%

If the total import of the country is T 3000000, then how much is the import of item P6?

Ans X 1. 450000
& 2. 720000
v 3. 630000
& 4690000

Question ID : 9895804383
Chosen Option : 3

Q.6 Inashop there are 60 articles. The average cost of 30 articles is T30 and the average cost of the remaining articles is
4 %35 What is the average cost of all the articles together?




Ans X 1. 333
v 3325
<3 %335
X4 334

Question ID : 9895804362
Chosen Option : 2

Q.6 Mohit and Sumit start a business with investment of 66000 and I84000 respectively. If at the end of the year they earn
5 profit in the ratio of 11 : 9. then what will be ratio of the time period for which they invest their money?

Ans of 114:9
X2 33:42
XK39:11
X4 7:11

Question ID : 9895804369
Chosen Option : 2

Q.6 Marked price of a machine is 70% more than its cost price. If machine is sold at a profit of 44.5%, then what will be the

6 discount percentage?

Ans of 115%
X 2. 20%
X 3. 25%
X 4 17%

Question ID : 9895804364
Chosen Option : 2

Q.6 A 420 metre long train is moving at the speed of 120 km/hr. How much time it will take to cross a 580 metres long
7 platform?

Ans  of 130 seconds
< 2. 48 seconds
< 3. 40 seconds
< 4. 45 seconds

Question ID : 9895804376
Chosen Option : 2

Q.6 A number is increased by 40% and the resultant is decreased by 25%. What will be the total percentage increase?
8

Ans X1 10%
X 2. 6%
v 5%
X 4 4%

Question ID : 9895804366
Chosen Option : 2

%’ Ifp:q=7: 8. then what will be (p*/q) : (q%/p)?
Ans X1 512 :343

& 2.49:64

v 3 343:512




K47:8

Question ID : 9895804371
Chosen Option : 2

Q.7 Simple interest on a sum for 4 years is T 24000 and the compound interest on the same sum at same rate of interest
0 (interest is compounded annually) for 2 years is
% 12750. What is the rate of interest per annum?

Ans of 1 12.5%
X 2. 20%
X 3 15%
X 4. 18%

Question ID : 9895804373
Chosen Option : 2

Q.7 A bag has white and yellow balls in the ratio 12 : 17 respectively. If the total number of balls is 116, then how many
1 balls are yellow?

Ans X1 62
X 2 74
v 2 68
X476

Question ID : 9895804370
Chosen Option : 2

Q.7 18 workers can complete one-third of a work in 27 days. How many workers can complete the same whole work in 9
2 days?

Ans 1. 128 days
2. 162 days
3. 112 days
4. 148 days

Question ID : 9895804374
Chosen Option : --

Q.7 The ratio of the areas of two triangles is 6 : 1 and the ratio of their bases is 3 : 2. What will be the ratio of their height?
3

Ans XK 15:1
v24:1
X3 2:1
K4 2:3

Question ID : 9895804380
Chosen Option : --

Q.7 A sum of 10000 becomes ¥16000 at the rate of 15% per annum on simple interest in P years. What will be the value of
4 P

Ans X" 1 3 years
o 2 4 years
< 3. 6 years
X 4. 5 years




Question ID : 9895804372
Chosen Option : --

Q.7 The pie chart given below shows the annual snowfall received by 7 states of a country. The snowfall is shown as a
5 percentage of total annual snowfall of the country.

S1

% 52

15%

25%

Sfj/ s3
i 20%
S5 S4
12% 6%

If the annual snowfall received by the country is 700 cm. What is the average annual snowfall of S2, S6 and S72
Ans X 1. Cannot be determined

X 2 154cm

V'3 126 cm

X 4. 84 cm

Question ID : 9895804381
Chosen Option : --

Section : English Language

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.

Today we are closer to reaching an agreement that we were a few months ago.

Ans 1. a few months ago

2. to reaching

X 3. we are closer
v 4 that we were

Question ID : 9895804831
Chosen Option : 3

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.

We must realize that learning from mistakes are an important part of life.

Ans  of 1 mistakes are

2. part of life
3. that learning from

& 4. We must realize

Question ID : 9895804832
Chosen Option : 3

Q3 Select the word which means the same as the group of words given.

That which cannot be conquered
Ans 1. Incapable

¥ 2. Invincible

& 3. Inevitable

X 4 Invisible

Question ID : 9895804827
Chosen Option : 3




Q4 Select the most appropriate synonym of the given word.

GLOOMY
Ans 1. Light
v 2 Dull

3. Bright

& 4. Painful

Question ID : 9895804818
Chosen Option : 3

Q5 Select the word which means the same as the group of words given.

A person who eats too much
Ans 1. Greedy
v 2. Glutton
< 3. Obese
< 4. Liberal

Question ID : 9895804826
Chosen Option : 2

Q6 Select the correctly spe
Ans 1. immigiate

& 2. immidiate

< 3 imediate

v 4 immediate

Question ID : 9895804825
Chosen Option : 4

Q7 Select the most appropriate meaning of the given idiom.

Once in a blue moon
Ans 1. Rarely
2. Usually

< 3. Never
4. Frequently

Question ID : 9895804823
Chosen Option : 1

Q.8 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

By seeing the cameras the villagers were convinced that the tourists intended to take photographs.

Ans 1. Seeing the cameras

& 2. Seen the cameras
& 3. No improvement




/< 4. Saw a camera

Question ID : 9895804837
Chosen Option : 3

Q9 Select the most appropriate word to fill in the blank.

He was vexed _ the behaviour of his daughter.
Ans - X1 from

X 2. for

< 3. on

v & with

Question ID : 9895804834
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)

development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 10

Q(')l Fill in blank (1) with the most appropriate option.
Ans - X1 involves

v 2. deserves

X 3. invites

& 4. dictates

Question ID : 9895804839
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)
development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 11

Qil Fill in blank (2) with the most appropriate option.
Ans .. rapid
/< 2. prompt
/< 3. express

&< 4. hurried

Question ID : 9895804840
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)

development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.




SubQuestion No : 12

%! Fill in blank (3) with the most appropriate option.

1. popularity
< 2. demand
< 3. fame
#< 4. choice

Ans

Question ID : 9895804841
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1)

triumph, the experts in the field (5)

SubQuestion No : 13

Ans x 1. 1
v 2. the
XS- some

/< 4. one

Comprehension:

a mention in any discussion of the future of Indian theatre. It is the (2)
development of the cinema as a competitor for (3)

among people. In (4) early flush of cinematic
the extinction of the theatre.

%! Fill in blank (4) with the most appropriate option.

Question ID : 9895804842
Chosen Option : 1

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1)

triumph, the experts in the field (5)

development of the cinema as a competitor for (3)

a mention in any discussion of the future of Indian theatre. It is the (2)

among people. In (4) early flush of cinematic
the extinction of the theatre.

SubQuestion No : 14

Qj Fill in blank (5) with the most appropriate option.
Ans 1. predicted
X 2. regarded

X 3. calculated

&< 4. studied

Question ID : 9895804843
Chosen Option : 4

Ql . . . . .
w~ Select the most appropriate meaning of the given idiom.

At daggers drawn
Ans 1. Being irritated
2. Being friendly
3. Being familiar

4. Being hostile

Question ID : 9895804822




l Chosen Option : 1

Qél Select the most appropriate synonym of the given word.

MENACE
Ans 1. Help

2. Delight
/< 3. Harassment
v 4 Nuisance

Question ID : 9895804819
Chosen Option : 1

Q7'1 Select the most appropriate ANTONYM of the given word.

SOGGY
Ans - X' 1. Cool

& 2. Moist
< 3. Damp
" o3 Dry

Question ID : 9895804820
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
8 substitute it, select No improvement.

One can succeed in business unless one is prepared to take risks.

Ans of 1. Ope cannot succeed
& 2. No one cannot succeed
3. No improvement

4. One cannot hardly succeed

Question ID : 9895804835
Chosen Option : 2

Qg',l Select the most appropriate word to fill in the blank.

Owing to the heavy rains the office building was badly g
Ans 1. damage

2. damages

w

. damaged

4. damaging

Question ID : 9895804833
Chosen Option : 4

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
0

We have to check the records to find out how much cheques have been collected so far.

Ans X 1.




2. much cheques

& 3. have to check
& 4 to find out

Question ID : 9895804830
Chosen Option : 1

Q2 Select the most appropriate word to fill in the blank.

While walking on the beachwe  seashells.
Ans X 1. assembled
< 2. increased
< 3. peeded
v . collected

Question ID : 9895804829
Chosen Option : 4

2 E .
Q2 Select the correctly spelt word.

Ans 1. Bagger
« 2 Beggar

/< 3. Begger

4. Baggar

Question ID : 9895804824
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

I am not frightened of Shere Khan so I know that he is very cunning.

Ans X 1. in case I know
2. No improvement
< 3 501 know
v 2 but I know

Question ID : 9895804836
Chosen Option : 4

Q2 Select the most appropriate word to fill in the blank.

He  himself from taking sugary foods.
Ans - X' 1. recovered
v 2. restricted
< 3. resorted
< 2 removed

Chosen Option : 2

LT

[ Question ID : 9895804828 ]




®  Select the most appropriate ANTONYM of the given word.

MISERABLE
Ans X 1. Lonely

v 2. Cheerful
< 3. Hopeless

X 4. Miserly

Question ID : 9895804821
Chosen Option : 3

Section : Hindi Language

' Rea W B R F T sgEd e F TS

e @ g =Ry
Ans 1_m

Question ID : 9895803780
Chosen Option : --

Q2 @y Ty T F AT TH o SR

T[T Tl ITeT
Ans 1. m

Question ID : 9895803796

Chosen Option : --
3 g
©® U T g F Rw T
Fiass
e airss
2. AEHHT
X 3. TETsH
5. HFER
Question ID : 9895803790
Chosen Option : --




RT 71T 9feg & TS e &7 TIT |

AT

2

Ane 1 seaAfy
X2 F=OT

3. AT

4. 3THTETT

Question ID : 9895803792
Chosen Option : --

Q5 frafaf@a # & 35 Reey & 99w U S ' W g5 357 Fg F Y ;Fd FAT ¢
A
"L 9Hes gl

2. fAfRaa g
3 TgY I g A
X 4 g ST

Question ID : 9895803795
Chosen Option : --

0% Ry T T F T v oqed A

ISR e Tell
Ans L FaA
2. TERILT
3. pdcel
o

Question ID : 9895803797
Chosen Option : --

Q7 fw arw arer & Wwifha @zt sfowala s F e suge fRweT &1 99w w3
AeY_ A T B W& TS AR FH | =@ T

X 1 #egT A WY & TEA W
2 ASEY F e & TEA T
3 AIEY o S H T WY
s FIET A T § W T

Ans

Question ID : 9895803779
Chosen Option : --

*° U AT = 1 9E S A R SwE A R P
HaT ' Sad WIFR & e gar gl




Ans (lmaﬁ
2. g g

3 qUIHR & T
X 4 Sae

Question ID : 9895803775
Chosen Option : --

QY Rr aw am F twifha s # SowrwRa F ¥ O s9ges e &1 7w
T FT P HIA AT T & FEEoad sheellal 2l

Ans

L. AT FETaT g
> TETIoIE FgTd 2l
3. TG el 2
4. TS FEAT g

Question ID : 9895803777
Chosen Option : --

' T T I o FT TAT Y
AL R

Question ID : 9895803799
Chosen Option : --

U R T oreg F TAIETEN oeE FT TTA FL
Fepier

Ans 1. held

Question ID : 9895803793
Chosen Option : --

Q2-1 FrafafEa # & 57 ReeT & 907 & 3 'vF & I F T qgEE F 7Y wEd FA g

Ans lwéﬁm
2. Tk UAFT & AT
3wk dor U 3R 9T e




X 4 TH g ATH Frer AT

Question ID : 9895803794
Chosen Option : --

%' RT T a9 1 FE ST A9 Y S F% IR
IS geT & RNafor TR W IFAEAGAaT @1 e g
" g @
2. fRrefoT WEATHT W
3. JTRATHAGIAT T
o e B

Question ID : 9895803776
Chosen Option : --

% Rea e # s & T s9ged e F T9T H

TAATIONE _ TFEm
e gaEgltar
5. gl
I I

Question ID : 9895803783
Chosen Option : --

Comprehension:

ol ey & Rea syt & ofd o & = o
AT FeA F HFARX HFST -

(1) 3R 9 & | SHEHT (2) fomelr & ofr
S FFar | A (3) Tm WA-TEr T ofr FLT | W=
B & Bl sRoT @ (4) FET 3T Foparr | ST A
FeT T & T TF e AT Fe (5) ar 2l

SubQuestion No : 15
% areier # WA Red T (1) & e sagwa
Areg; gram-
Ans 1. m
2. HTEETT
o 5 §gATaT
4. Q’?;?IT

Question ID : 9895803785
Chosen Option : --




| . .

Comprehension:

ol ey & Rea syt & ofd oz & = R
AT g F AR P -

(1) 3=TAT 9 & | SHHT (2) oy & of &
T FT TR | ER (3) IT WA-TAET T & FET | T

T & Oy sRoT @ (4) FET 3T Fehar | SRS A
FaT AT § T v mEar AT e (5) &ar &l

SubQuestion No : 16

% were # wHfaa Rea T (2) F e suged
QT gIem-

AnS L 3l

Question ID : 9895803786
Chosen Option : --

Comprehension:

ol ey & Rea syt & ofd o=@ & = o
AT FeA! F HFAX ST -

(1) 3R 9 & | SHEHT (2) ey & sf 7@

ST TR | R (3) =m WiA-TEr | off FET | mear
Fvar & e FRoT @ (4) FET 3T Feparr | TEfEer A
FeT AT ¢ F v g=ar Ay e & (5) &ar &l
SubQuestion No : 17

% wearer # wHaa Rea T (3) ¥ Rw sagE
e g

Ans 1'm
< 2 FqT
X 3 e
v T

Question ID : 9895803787
Chosen Option : --

Comprehension:

ol ey & Rea syt & ofd oz & = R
AT g F AR ST -

(1) A O B | g (2) et & st T
ST FFar | R (3) IT WA-TET T & FET | T
FFar # el RO & (4) FET 3T Teha | TS H

FaT AT § T v mEar AT e & (5) &ar &l




SubQuestion No : 18
% TIeier # Whfad Red T (4) F e sugwa
reg gIem
Ans 1. mﬁ_
X2 @
3. Bﬁ'&?‘f

X 4 SIIUTH

Question ID : 9895803788
Chosen Option : --

Comprehension:

ffof@a ey & Rea syt & ofd ae@m & = o
AT FeA F HFAX P -
WA uaITiEsEs (2 fRdr @ o @
Hr 31 FEar | Y (3) TT WA-=dr T ofr FET | Feay
Bar # GOl sRoT @ (4) FET 37 Feperr | TS A
FeT T & T T e AT Fe (5) &ar 2l
SubQuestion No : 19

% e # Tafad Red T (5) F e sugea
ereg, grem

Ans 1@&‘3

o

v 3. greToT
X4 HIH

Question ID : 9895803789
Chosen Option : --

% T e T @ A s A A S w3
AT S 39 T TRHT FT A HR T @ T grar B g

s e e
2. 39 T I3 T

3. 953 3T T A F
4. STAT FIA g

Question ID : 9895803774
Chosen Option : --

%2 FEr IHT I U F TIT FT
> AfErer




Question ID : 9895803798
Chosen Option : --

% Red = s F T s9ged e F T9 H

Question ID : 9895803781
Chosen Option : --

Qézﬁcmmﬁwmﬁmm¢mmﬁwmma#l
S al & e uny B
ANS L Rt #r TE ORT
2. HFEA & TH ORI
3. HFEIT H Teh URT
4 3EEN I URT

Question ID : 9895803778
Chosen Option : --

foa(rmal?qra:rﬁ?»ﬂﬂgﬁl

farqa

Ans 1. m
X2 HUH
v e 3ET

o

Question ID : 9895803791
Chosen Option : --

% Rod o 1 RS & T 39ged weg F IIT A

AT A §gd & afeam feam

Ans X 1. HTEITA
v 2. sqTSoT

3 gre-faare




X gaEd




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018

Roll No. :
Registration No.
Name :

Exam Venue :
Exam Time : 4:00 PM -5:30 PM
Exam Date : 13/02/2019

Section : General Section

Q.1 The statements below are followed by two conclusions labeled Tand 1. Assuming thar the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Al birds are cups.

2) Some cups are cats.

Conclusion:
1 All birds are cats,
18 Some cups are birds.

Ans

X 1. Only conclusion I follows.

X 2 Either conclusion I or conclusion II follows.
X 3 Both conclusions follow.

« % Only conclusion II follows.

Question ID : 9895802812
Chosen Option: 4

Q.2 There is only one dictionary in a Library which will be used by 6 stidents P, Q. R. S, T and U. one by one. S will use it
immediately after Q and before P. T will use it immediately after R and before U. R will use the dictionary after P. Who
will use the dictionary the last?

Ans le
X2 P
X3 T
viu

Question ID : 9895802811
Chosen Option : 4

Q- 3 Ina certain code. CONCOLOGY is written as YGOLOCNOC. How will PAL AEOGRAPHY be written in that code?
Ans - X1 YHPRAGOEALAP

v 2 YHPARGOEALAP

X 3. YHPARGOAELAP

X 4 YHPARGEOALAP

Question ID : 9895802807
Chosen Option : --

Q4




Select the option that will correctly replace the question mark (?) in the series.

7,18,40,73,7
Ans of 1117
X 2 115
X 3 127
X 4 107

Question ID : 9895802814
Chosen Option : 1

Q.5 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

5

Ans

X1

v )

X 3.

Question ID : 9895802821
Chosen Option: 2

Q6 Select the option that will correctly replace the question mark (?) in the series.

15,19,35,71,?
Ans X 1125

X 2 141

X 3 145

W . 135

Question ID : 9895802815
Chosen Option : 4

Q7 Select the Venn diagram that best represents the given set of classes.

India, Visakhapatnam, Andhra Pradesh
Ans




X L

X s

OROE

Question ID : 9895802825
Chosen Option: 2

Q.8 Select the option that is refated to the third term in the same way as the second term is related to the first term.
Quarrel : War : : Wish: ?
Ans X1 Ask
v 2 Desire
X 3 Drown
X 4 Sad

Question ID : 9895802805
Chosen Option : 2

Q.9 Eight friends A, B, C. D, E, F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
and third to the right of B, G is between F and D. H is to the left of D. E is between C and A. Who is sitting third to the
right of A?

Ans X 1.
v
X 3.
X 4

v

0w e

Question ID : 9895802810




l Chosen Option: 1

Q.1 A square transparent sheet with a pattern is given How will the pattern appsar when the transparent sheer is folded
0 along the dotted line?

)
A

Ans

<

X 1

"
[T ——

:

| ET———

[ ——

Question ID : 9895802824
Chosen Option : 2

Ql-l Find out the two signs to be interchanged to make the following equation correct.

24+2x2-6+3=22
Ans X 1 x and +
X 2 -and +
v 3 +and-
X 4 +and x

Question ID : 9895802819
Chosen Option : --

2! Choose the odd one out of the given options.

Ans - X' 1. Kabul
' 2 Bahrain
X 3 Vienna
X 4 Canberra

Question ID : 9895802803
Chosen Option : 4

Q.1 Ina certain code, OOLOGY is written as 89. How will VIROLOGY be written in that code?
3

Ans X 1. 89
V2 123
X 3 97
X 4 113

Question ID : 9895802808
Chosen Option: 2




~

i &

&

A B C

Ans

X 3

&
x| /5D
2
¢!

follow(s) from the information given in the statements.
Statements:

1) Al goats are dogs.

2) Some goats are cows.
Conclusion:

I Some dogs are cows.

M. Some cows are dogs.

Ans - X 1. Only conclusion I follows.

X 2. Only conclusion II follows.

« ¢ Both conclusions follow.

6 19:441 ::17:92

Ans X' 1. 225
X 2 144
X 3 169

W 4 361

Q1 Choose the option that would follow next in the given figure series.

Question ID : 9895802820
Chosen Option: 4

X 3. Neither conclusion I nor conclusion II follows.

Q.1 The statements below are followed by two conclusions labeled T and 1. Assuming thart the information in the statements
5 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely

Question ID : 9895802813
Chosen Option : --

Q.1 Seleet the oprion that is related 1o the third number in the same way as the second number is related to the first number.




Question ID : 9895802816
Chosen Option : 4

2 Choose the odd number out of the given options.
Ans X 1519

v 2 566

X 3 357

X 4 276

Question ID : 9895802817
Chosen Option : 2

Q.1 seven friends O. P. Q. R. S, T and U are warching a movie sitting in a row. S is sitting ar one extreme end. Q is sitting
8 second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.
Who is sitting to the immediate right of P?

Ans le
X2R
XU
vio

Question ID : 9895802809
Chosen Option : 4

Q.1 select the option that is related to the third term in the same way as the second term is related to the first term.
DFH: IKM : EGI:?
Ans X1 JLM
v 2 JIN
X 3 JIIM
X 4 JLI

Question ID : 9895802806
Chosen Option: 2

Q(-)Z Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

Ans

X 3

X a

*
2] (B |12

Question ID : 9895802822




l Chosen Option : 1 J

Q1-2 Select the option that will correctly replace the question mark (?) in the given pattern.

41 85 | 100

Ans X113
V26
X309
X o 11

Question ID : 9895802818
Chosen Option : 2

Q2.2 Select the option that will correctly replace the question mark (?) in the series.

QLA, ONY. MPW, KRU, ?
Ans of 1 ITS
X 2 ITU
X 3 JTS
X 4 IST

Question ID : 9895802801
Chosen Option: 3

Q.2 Choose the option that most closely resembles the mirtor image of the given word when mirror is placed at right side.
3

QUENCH

Ans
X 1| HoM3Iup
> | Houauo
3| HoNano
s, | HOMEUD

Question ID : 9895802823
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4

Assume : Presume : : Calm : ?

Ans X' 1. Peace
& 2. Proclaim
X 3 Ego




W ¢ Sedate

Question ID : 9895802804
Chosen Option: 4

%? Choose the odd one out of the given options.

Ans - X 1. SGH
« 2 SHT
X 3. HKO
X 4 IET

Question ID : 9895802802
Chosen Option : 2

92 Magnus Carlsen is famous for which of the following sports?

Ans X 1 Tennis
& 2 Football
X 3 Carrom
« ¢ Chess

Question ID : 9895802862
Chosen Option : 4

Q2 Which of the following terms is NOT used in the banking field?
Ans - X 1. Repo rate

v 2. Zero hour
X 3. Collateral
X o Interest rate swap

Question ID : 9895802856
Chosen Option: 2

Q.2 From which country did the Indian Constitution borrow the idea of directive principles of state policy?
8

Ans - X 1 Britain
X 2. Germany
X 3 South Africa
v 4 Treland

Question ID : 9895802851
Chosen Option : 4

O el # ¥ Fia @ A0 ¥ WS GOE # wfF wderor FEga Far 82
A R
X2 FERE FE
3?1€a§|15'
- afr




Question ID : 9895802854
Chosen Option : 1

st As per the text ‘Charaka Samhita’ how many bones are there in a human body?

Ans X1 206
v 2 360
X 3 370
X 4 208

Question ID : 9895802873
Chosen Option : 1

Ql'3 The peninsular plateau of India is part of which of the following landmass?
A of 1 Gondwana land
/X< 2. Tethys

X 3 Andean
X 4 Laurasia

Question ID : 9895802871
Chosen Option : 1

Q.3 The popular depiction named ‘Ravana Shaking Mount Kailash® 1s depicted in which of the following caves?
2

Ans - X 1. Kanheri
« 2 Ellora
/< 3. Hatigumpha

X 4 Ajanta

Question ID : 9895802868
Chosen Option : --

Q.3 Which of the following articles of the Indian Constitution provides powers to the president of India to declare National
emergency?

Ans  of 1 Article 356
X 2 Article 371
X 3 Article 352
X 4 Article 372

Question ID : 9895802852
Chosen Option : 3

Qf The Brihadeswara temple at Tanjore belongs to which of the religious sects?
Ans X 1 Alvars

X 2 Shakta

« 5 Nayanars

X 4 Vedic

Question ID : 9895802867
Chosen Option : --

e




Qé3 Which one of the following waves are used by the common TV remote control?

Ans - X 1. Lasers
X 2 Radio waves
X 3 Ultrasonic waves
' ¢ Infrared waves

Question ID : 9895802860
Chosen Option: 4

%3 The National Sports Day is celebrated on which day in India?
Ans o 1 August 29

X 2. August 26

X 3. August 28

X 4 August 27

Question ID : 9895802863
Chosen Option: 1

Q7-3 The Sangai festival is celebrated in which of the following states of India?

Ans - X 1. Arunachal Pradesh
X 2. Meghalaya

X 3 Nagaland

' + Manipur

Question ID : 9895802869
Chosen Option : --

Qé3 According to Union Budget 2018, how much amount was allocated for Operation Green?

Ans - X 1. 600 crore
« 2. 500 crore
& 3. 400 crore
X 4. 700 crore

Question ID : 9895802855
Chosen Option : --

Q.3 Which juice secreted by the organs in the alimentary canal plays an important role in the digestion of fats?
9

Ans - 1. Pancreatic juice, saliva

/< 2. Hydrochloric acid, mucus
« 3 Bile juice, Pancreatic juice
/< 4 Saliva, hydrochloric acid

Question ID : 9895802861
Chosen Option : 2

Q¢ “The Long walk to Freedom” is the autobiography of:
Ans




« 1 Nelson Mandela
/< 2. Martin Luther King

/< 3. John F Kennedy
X 4 Abraham Lincoln

Question ID : 9895802864
Chosen Option: 1

Q4 Who is the Ex-Officio Chairman of Rajya Sabha?
Ans - X 1. Opposition Leader in Rajya Sabha
X 2. Speaker

« 3 Vice President of India
X 4 Prime Minister

Question ID : 9895802853
Chosen Option: 3

Q2'4 Which of the below rivers is also referred to as “Dakshin Ganga™?
Ans - X 1. Periyar

X 2. Krishna

X 3 Kaveri

v 4 Godavari

Question ID : 9895802870
Chosen Option: 4

Qw7 3 e R ¢ o X S & T 7 P # ¥ e R o
A oL gTe TR e
2. TS W M
X o Rcatsa o F
4 EIET $TE AR

Question ID : 9895802875
Chosen Option : 1

24 The ancient name of Coastal Orissa was:
Ans  of 1 Kalinga

X 2. Kaushambi
X 3. Kamarupa

X 4 Khandesh

Question ID : 9895802874
Chosen Option : 1

%4 The novel “"The God of Small Things™ is inspired by which country?

Ans 1.




Ans

Ans

v 2 India
/< 3. Bangladesh
X 4. Nepal

Question ID : 9895802865
Chosen Option: 1

%4 Which of the following is NOT a major source of proteins?
Ans

/X 1 Soyabean
« 2 Wheat
X 3. Fish

X 4 Gram

Question ID : 9895802858
Chosen Option: 2

« 1. Copper sulphate and caustic soda solution

X 2 Todine and caustic soda solution
/< 3. Copper sulphate and iodine solution

X 4 Todine solution

Q7-4 A solution of which of the following is needed to test the presence of proteins?

Question ID : 9895802857
Chosen Option : --

X L

Qé“ Which of the following statements describes “endemic species™?
Ans

Species with less population may move to the category of endangered species.

X 2. Species that are not found existing after intense searches.

o 3. Species that are found only in some particular areas.

/< 4 Species that have come from abroad.

Question ID : 9895802872
Chosen Option : 1

/X 1. February 10
X 2 November 10
« 3 December 10
X 4 January 10

Qé“ Which of the following days is observed as the “Human Rights Day™?
Ans

Question ID : 9895802866
Chosen Option : 2

Q% Which of the following aquatic animals does NOT have gills?

1.




X 2 Squid
X 3 Clownfish
« ¢ Whale

Question ID : 9895802859
Chosen Option: 3

Q.5 IfC alone can complete two-third part of a work in 12 days, then in how many days € can complete the whole wark?

Ans - X1 24 days
o 2 15 days

X 3. 8 days
&< 4 18 days

Question ID : 9895804608
Chosen Option: 4

5 e
Qz What is the value of 512+16+4x§of(l+l)?
2 g8 3

Ans 455

12
449
2 JES——

12
439
3 JRS——
12
443

12

X1

Question ID : 9895804593
Chosen Option: 3

QéS The perimeter of a rectangular table is 60 cm. If the area of the rectangular table is 209 cm?, then what will be the length
of the 1able?

Ans X117 cm
v 2 19cm
X 3 13cm
X 4 2lcm

Question ID : 9895804612
Chosen Option : 2

Q.5 Marked price of an article is 70% more than its cost price. After giving a discount of 10%, article is sold for ¥ 1071.
4 What will be the cost price of the article?

Ans X1 T 530
X 2 T590
V'3 T700
X 13620

Question ID : 9895804597
Chosen Option : 3

Q5 pe compound interest on a sum for 5% year is T 7800 and compound interest for sixth year is T 0048
(interest is compounded annually). What is the rate of interest?




Ans X 1 12%
X 2 15%
v 3 16%
X 4 14%

Question ID : 9895804606
Chosen Option: 3

Qé5 If cost price of an article is T 928 and profit is 15%, then what will be the net profit?

Ans X 1. F 154.50
v 2 % 13920
X3 3212
X + T 168.40

Question ID : 9895804601
Chosen Option : 2

Q.5 simple interest for three years for a certain sum at the rate of 15% is T 9000. If the rate of interest becomes 30%, then
7 what will be the simple interest for two years?

Ans X1 F 27000
X 2 T 4500
v 3 T 12000
X 4 %9000

Question ID : 9895804605
Chosen Option: 3

QéS What is the value of 1(}4045_3,;%0{[1_3]‘?

3
Ans 44
X 1—
3
49
2. —_—
v =5
3
46
4, —
3
Question ID : 9895804594
Chosen Option : --
Q.5




The pie chart given below shows the imports of 7 different items P1, P2, P3, P4, PS5, P6 and P7 as a percentage of total

imports of a country.
P7 Pl
14% 1%
P2
s 23%
21%
PS5 P3
P4
12% 9
o 4% 15%

If the total import of item P1 is T 33000. then what is the value of imports of item P27
Ans - X 1. 46000
X 2. 57500
X 380500
W 4 69000

Question ID : 9895804615
Chosen Option : 4

QO If 1/4: 1/B: 1/C=2:3:4, then what is the ratio of 4 : B: C?
As of 16:4:3

X24:3:6

X33:6:4

X412:6:8

Question ID : 9895804603
Chosen Option: 1

1 students is 35 kg. What will be the average weight (in kg) of all 70 students?

Ans of 1 32.4kg
X 2 36.8 kg
X2 352ke
X 4 34.6kg

Q.6 Ina class there are total 70 students. The average weight of 26 girls is 28 kg and average weight of the remaining

Question ID : 9895804595
Chosen Option : 1

2  metre long bridge?

Ans - X 1. 38 seconds
X 2. 42 seconds
' 3 40 seconds
X 4 35 seconds

Q.6 A 250 metre long train takes 30 seconds to cross a 350 metres long bridge. How mmch time train will take to cross a 550

Question ID : 9895804610
Chosen Option : 3

3 rotal votes were declared invalid. then other candidate Manoj get how much number of vores?

Ans 1.

Q.6 Inan election between-Ravi and Manoj. Ravi gers 61% of the toral valid votes. If total votes were 25000 and 20% of the




2 7800
X 39750
X 4. 8025

Question ID : 9895804599
Chosen Option: 2

Q.6 The price of two articles are in the ratio of 5 : 6 respectively. The price of first article is increased by 30% and the price
4 of second article is decreased by X%¢. If the new ratio is 13 : 11 respectively, then what is the value of X7

Ans X' 1.9.09
v 2 833
X3 1111
X 125

Question ID : 9895804604
Chosen Option: 1

Q.6 The pie chart given below shows sale of different types of cars in a city fora given year. The total sale of cars in the city
5 15 600000.

How many T4 cars are sold in the city for the given year?

Ans - X 1. 144000
X 2. 138000
v 5 126000
X 4 128000

Question ID : 9895804616
Chosen Option: 3

Q.6 The length and breadth of a rectangle is 16 cm and 12 em. What will be the area of the rectangle?
6

A XKL 144 om?
v 2 192 em?
X 3 212 cm?
X 4 176 cm?

Question ID : 9895804611
Chosen Option : 2

Q.6 Mean complere a work in 14 days less than the time taken by L. If both M and L together can complete the same work
7  in 24 days. then in how many days M alone can complete the same work?

Ans - X 1. 35 days
o 2 56 days
X 3 21 days
X< 4 42 days

[ Question ID : 9895804607




9

0

Ans

Ans

X 1 2870
v 2 T 3300
X3 T 3150
X 4 Z 3500

Ans X112 km/hr

X 2 14 km/hr
'3 11 km/hr
&< 4 13 km/hr

v 1 17cm
X 2 23cm
X3 2lcm
X 4 19cm

Ans

P7
14%

21%

PS5
12%

%
X 1 75%
X 2 33%
X 3. 80%
W 1 9%

1.

P1
11%

P3
15%

P2
23%

Imports of item P6 is how much percent more than the imports of item PS?

l

Chosen Option: 1

Q.6 T and W invest sum in the ratio of 15 : 20 : 27 respectively. If they eamed total profit of ¥ 10230 at the end of year,
8  then what is the share of }J?

Ans

Question ID : 9895804602
Chosen Option : 2

Q.6 Mohan covers a distance of 187 km at the speed of S kin‘hr. If Mohan increases his speed by 6 knvhr. then he takes
6 hours less. What is the value of 57

Question ID : 9895804609
Chosen Option : 3

Q.7 The radii of two circles are 15 cmand 8 em. If the area of a third circle is equal to the sum of the areas of the twe
circles, then what will be the radius of the third circle?

Question ID : 9895804613
Chosen Option: 1

Q.7 The pie chart given below shows the imports of 7 different items P1, P2, P3, P4, PS5, P6 and P7 as a percentage of total
1 imports of a country.

Question ID : 9895804614
Chosen Option : 1

Q.7 Psellsan article to Q ata loss of 5% and Q sells that article to R ara loss of 20%. If R pays < 2812 for the article, then
2 what was the cost price for P?




v 2 T 3700
X 3 T 3515
X 4 T 3250

Question ID : 9895804600
Chosen Option: 4

Q.7 Theaverage monthly expenditure of a family is T 8160 for first 2 months, T 12780 for next 5 months and I 14280 for 5
3 months. If the family saves T 66300 in the whole vear. then what will be the average monthly income of the family?

Ans - X1 F 18000
V2 T 18160
X 3 T 18100
X 4 T 18260

Question ID : 9895804596
Chosen Option: 2

Q47 The data below shows the number of students in class A and B having secured different marks.

Marks | Students | Students
inclass A | in class B
3 2

N o [ |03}

‘What is the combined mean of A and B?

Ans X1 3.75
X235
v 4.7
X4

Question ID : 9895804598
Chosen Option : --

Q5;7 ‘What will be the Least Common Multiple of 22 x35x 73 and 2* x 3¥ x 710

A W1 52y 34y 7l
X 2 26 %3974
X3 2453674
24 x35% 73

Question ID : 9895804592
Chosen Option : 4

Section : English Language

Q1 Fill in the blanks with the most appropriate words.

Switch off the air conditioner you will catch a cold.
Ans J 1. or

X 2 but

X % and

X % s0




Question ID : 9895804426
Chosen Option : 1

Q2 Select the most appropriate synonym of the given word.

GULLIBLE
Ans  of 1 Credulous

X 2. Knowledgeable

X 3. Innocent
X 4. Perceptive

Question ID : 9895804411
Chosen Option : 1

Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

The state government has announced that it was giving financial helps to the economically weaker sections of society.

Ans - of 1 will give financial help
X 2 will give financial helps
/< 3. Gives financial helps

< 4 No improvement.

Question ID : 9895804429
Chosen Option: 1

Q4 Select the most appropriate antonym of the given word.

ABSURD

Ans X 1 guilty
v 2 sensible
& 3 sincere
X 4 ridiculous

Question ID : 9895804413
Chosen Option : 3

Q5 Select the most appropriate meaning of the given idiom.

At one’s wits end
Ans - X 1. To disagree with something

« 2. Not knowing what to do
/< 3. Without aim or purpose
X 4. To take note of something

Question ID : 9895804414
Chosen Option : 1

Q6




Select the most appropriate word to fill in the blank.
If you kill us, the Emperor can attack your kingdomonthe  of avenging our death.
Ans  of 1 pretext
X 2 excuse
X 3. guise
X 4 pretense

Question ID : 9895804421
Chosen Option : 2

Q7 Select the most appropriate antonym of the given word.

ABUNDANT
Ans - X 1 sufficient

X 2. plentiful
/< 3. adequate

J 4. scarce

Question ID : 9895804412
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The most common act of forgetfulness, I suppose (1) in the
matter of posting letters. So common is it that I am always (2)

to trust a departing visitor to post an important (3) So before
handing over the letter I make him (4) to post it immediately.
As for myself. anyone (5) asks me to post a letter is a poor
judge of my character.

SubQuestion No : 8
Q% Fill in blank (1) with the most appropriate option.
Ans - X 1. develops

X 2. creates

v 3 occurs

X 4 takes

Question ID : 9895804431
Chosen Option : 3

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The most common act of forgetfulness, I suppose (1) in the
matter of posting letters. So common is it that I am always (2)

to trust a departing visitor to post an important (3) So before
handing over the letter I make him (4) to post it immediately.
As for myself, anyone (5) asks me to post a letter is a poor
judge of my character.

SubQuestion No : 9
@9 Fill in blank (2) with the most appropriate option.

Ans - X 1. willing
X 2. frightened
v 2 reluctant
X 4 indifferent

Question ID : 9895804432
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The most common act of forgetfulness, I suppose (1) in the
matter of posting letters. So common is it that I am always (2)

to trust a departing visitor to post an important (3) So before
handing over the letter I make him (4) to post it immediately.
As for myself, anyone (5) asks me to post a letter is a poor
judge of my character.

SubQuestion No : 10

le Fill in blank (3) with the most appropriate option.
Ans & 1. message

W 2 letter
/< 3. parcel
X 4 mail

Question ID : 9895804433
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The most common act of forgetfulness, I suppose (1) in the
matter of posting letters. So common is it that I am always (2)

to trust a departing visitor to post an important (3) So before
handing over the letter I make him (4) to post it immediately.
As for myself, anyone (5) asks me to post a letter is a poor
judge of my character.

SubQuestion No : 11
Q1 Fill in blank (4) with the most appropriate option.
Ans X' 1. assure

« 2 promise

X 3. pledge

X 4 ready

Question ID : 9895804434
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

The most common act of forgetfulness, I suppose (1) in the
matter of posting letters. So common is it that I am always (2)
to trust a departing visitor to post an important (3) So before
handing over the letter I make him (4) to post it immediately.
As for myself, anyone (5) asks me to post a letter is a poor
judge of my character.
SubQuestion No : 12
Qz'l Fill in blank (5) with the most appropriate option.
Ans X 1 whom
& 2 which
X 3. that
v 4 who

Question ID : 9895804435
Chosen Option : 1

Q! Select the correctly spelt word.

Ans of 1. Attendance
X 2. Attendence
X 3 Attandence
X 4 Attandance

Question ID : 9895804416
Chosen Option : 1

T —————————————




Q1 Select the most appropriate word to fill in the blank.

Weneeda _ leader for the nation in these troubled times.
Ans - X 1. gifted

« 2 dynamic

X 3. sturdy

X 4 hard-core

Question ID : 9895804420
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 subsritute it, select No improvement.

Most of us fail to understand the objective of his frequent visits to this part of the country.
Ans  of 1. No improvement.

/< 2. to understand the objectives to
/< 3. to understanding the objective of

X 4. to understand the object of

Question ID : 9895804428
Chosen Option : 1

Qél Select the word which means the same as the group of words given.

One who collects stamps
Ans . X 1. Numismatist
v 2 Philatelist
/< 3. Philanthropist

/< 4 Plagiarist

Question ID : 9895804419
Chosen Option : 2

Q7'1 Select the correctly spelt word.
Ans  of 1. Beginning

X 2 Begining

/< 3. Bigining

X< 4 Begginning

Question ID : 9895804417
Chosen Option : 1

Q.1 Tdentify the segment in the sentence which contains the grammatical error from the given options.
8

May I have your permission leaving the office a litile early today?

Ans - X1 g little
/< 2 May I have

3 early today




o 4 leaving

Question ID : 9895804424
Chosen Option : 1

Q.1 Tdentify the segment in the sentence which contains the grammatical error from the given options.
9

Even though I took a taxi. the train left before I reached the station.
Ans - X 1. T reached
X 2 took a taxi
X 3. Even though

o ¢ the train left

Question ID : 9895804422
Chosen Option : 4

Q2 Select the most appropriate synonym of the given word.

ELABORATE
Ans - 1. Sketchy

X 2. Elongated
W 5. Detailed
X< 4 Appropriate

Question ID : 9895804410
Chosen Option: 3

Q2 Select the most appropriate meaning of the given idiom.

Hale and hearty.
Ans - X 1. Happy
X 2. Superior
« 3 Healthy
/< 4. Friendly

Question ID : 9895804415
Chosen Option : 1

QZ-Z Select the word which means the same as the group of words given.

Originating or occurring naturally in the place or country where found.
Ans  of 1 Indigenous

X 2. National
X 3. Ingenious
X 4 Ordinary

Question ID : 9895804418
Chosen Option : 1

.




%7 Fill in the blanks with the most appropriate words.

She has been reduced a skeleton due to her illness.
Ans - X1 for

X 2 with

Vs to

X 4 in

Question ID : 9895804425
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segmient in the given sentence. If there is no need to
4 substitte ir, select No improvement.

There is no reason why you should remain tense when I was promising to help you.

Ans - X 1. No improvement.

X 2. I promised helping you
« 3. I have promised to help you
X 4 I promising to help vou

Question ID : 9895804427
Chosen Option : 3

Q.2 TIdentify the segment in the sentence which contains the grammatical error from the given options.
5

We would be very pleased if you could come to my house.
Ans X' 1. come to

X 2 would be
X s if you
« 4. my house

Question ID : 9895804423
Chosen Option : --

Section : Hindi Language

! R T # s F T 39gE uee # oS R

& 91w BT, AR A= 9
Ans Xléhi'

v g
X 3 &

X ¥

Question ID : 9895803909
Chosen Option : --

Q% faw T AT F TE HET A HY o B TR F
FRA 3T FH F A Shew & T FT 3w FEER @ g9 FEere gl

Ans




1 FT HY TR TGAT
X 2 ot S & RT
Vi NgR AR

4 FET FEAT &l

Question ID : 9895803902
Chosen Option : --

¥ Rad T RS % AT 39gEA e F TTA A
TRT AR TT & T T
A X1 st
X 2 @t
o T
X o maT

Question ID : 9895803908
Chosen Option : --

¥ Red T # s F T 39gEa Ueg TS A

Fomga _ @a & AR ST @R
A drEee

X2 FAFT

X 3 ATHT

X 4 T ST

Question ID : 9895803906
Chosen Option : --

Q5 Frwfafm & & 37 fwed & 9o & S ' o1l T 737 o | JqEFE F 3T hIT FAT &
MK L o & e e

3%'@'37"

4.{!’@37‘"'

Question ID : 9895803920
Chosen Option : --

Qb Rw v T # Wi T # IferaiE w F v 3vged eeT & @ #
I Ao FAE 3SH AT ATAI-AT BN FOTH X 2

A X 1 39y ATar-far &
X % 38 AE-Rar #r




v 2 39T Aar-Rar #r
X ¢ gAY AEa-Rar &

Question ID : 9895803903
Chosen Option : --

Q7 Tr=fafem # & 30 fFeT 7 974 T S FAF FEA TF FA | qEAR F AT w0FT FI4
X Tgd 0w ofem e
v T @ AR 9% o S

X FH IREH T
X ¢ AT AR 3rEEeT = P

Question ID : 9895803921
Chosen Option : --

% TEr IS A Uee T TIT F
Ans X1 FEES

X 2 TIET

X 3 a3

-]

Question ID : 9895803925
Chosen Option : --

QY Rw 1w a F @i T F gfarala T F B svged fweT w1 9w F1
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Question ID : 9895803905
Chosen Option : --
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Chosen Option : --
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Chosen Option : --
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Question ID : 9895803922
Chosen Option : --
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Chosen Option : --
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Chosen Option : --
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Question ID : 9895803923
Chosen Option : --

Question ID : 9895803924
Chosen Option : --
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Question ID : 9895803900
Chosen Option : --

Question ID : 9895803917
Chosen Option : --
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Question ID : 9895803907
Chosen Option : --

Comprehension:
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Question ID : 9895803911
Chosen Option : --

Comprehension:




ffaf@a sy & Rea st @ 9 ez &
A fow =TT weal F e ST -

TER & W (1) FFOT F WER AN siaw7 2
o TevTe AR WEEar A (2) & HEear #
grea faanl amefish F oo SigeT S H
Fmsrmedsdisomadgs
@) #Faw __ (5) Fr gy A

SubQuestion No : 21
Y weare & wHfaa Red T (2) % e suged
rec grem
Ans ¢y m
o 2 eI
X3 T W
X 4 AT

Question ID : 9895803912
Chosen Option : --
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Chosen Option : --




